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run_13087064 FGT_RMS 1, Timebin=2,Disc=1,asmb=1DA
Tue Mar 27 19:38:32 2012

[CADC RMS for RDO=1,ARM=0,APV=5__}

RMS (ADC-ped)

180

160
—

140 f—

L=
120 p=

100

80

60

40

20

0

<3-|-I‘|‘|‘|‘|IIIH-I--I'I-I'

[ ADC RMS for RDO=1,ARM=0,APV=6 }

RMS (ADC-ped)

200 |
180 [=
160

140

120 f=

100 =

80 =

60

40

20

0

=
0

1
120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=7 }

RMS (ADC-ped)

120 J

100 [r

60 [+
40 [

20 [

=

i
120

APV channel

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=9 "}

RMS (ADC-ped)

200

180

160

140

120

100

80

60

40

20
0

°'I1IIH1|HH1!I T IH|11I|TI1|HI‘|

80 100 120
APV channel




run_13087064 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13087064 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB
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run_13087064 FGT_MPV_1,Timebin=2,Disc=1,asmb=1AB
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run_13087064 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Tue Mar 27 19:38:39 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

RMS (ADC-ped)

220
200
180
160
140
120
100
80
60
40
20
0

© TR R TITATTAT IH|‘I

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

RMS (ADC-ped)

250

200

150

100

"'II'I'H1'|'H1'I'[I1'IT|1

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

RMS (ADC-ped)

250

200

150

100

j |1'H1'|'I1'I'TI'I'I'I1'|'H'I'T|

SFTITT
: .

i
120
APV channel

[CADC RMS for RDO=1ARM=2,APV=3__}

RMS (ADC-ped)

300 F

250

200 [
150 f—

100 f——

50

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

RMS (ADC-ped)

250 |-

i
120
APV channel
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run_13087064 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
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run_13087064 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
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run_13087064 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
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run_13087064 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
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run_13087064 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Tue Mar 27 19:38:43 2012
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run_13087064 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Tue Mar 27 19:36:32 2012
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run_13087064 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
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run_13087064 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Tue Mar 27 19:38:43 2012
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run_13087064 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Tue Mar 27 19:36:36 2012
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run_13087064 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
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run_13087064 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Tue Mar 27 19:36:40 2012
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run_13087064 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
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run_13087064 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Tue Mar 27 19:36:42 2012

[ADC for FGT RDO=1,ARM=4,APV=0 } [ ADC for FGT RDO=1,ARM=4,APV=0

5 = 4000 p—
8 F--t--- ] =
2 2 =
Q 2 2 5 Q 3500 f— 10
% & =
3000 f=—--- -
=
2500 f=— - -
=
2000 f=——--- - 1
=
1500 f=—- - - -
1000 p=—- - - -
=
500 fpm—---- 10"
=
=
o=+
= i i i i i i
1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=1 } [ ADC for FGT RDO=1,ARM=4,APV=1 }
L = 4000 p— - - - - - -
4 g = H 10
[8) (o) =—dcscodoosos bocSdocaboosss
8 8 3500 = :
< < = 8
10° 3000 P=— == t----- Focgqesofpsosss
2500 fm—v{- == - e en EEEEE T SEP
= . 1
2000 fm— - - --t----- EEEEE P R
o 3 8 = o
1500 = v|= s = np e s EEEE S EETY PR
= b
1000 f=— vf- - = e m s EEEEE EEE PR
= . 10"
500 fm— ERS PR PPRED .-
= .
0 e e pamnn s B R e
= . i . i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=LARM=4APV=2 } [ ADC for FGT RDO=1,ARM=4,APV=2 }
4000
° T 3 =
8 2 = 10
[8) [8) H—-{-1{--F- -
Q Q 3500 5
< < H
10° 3000 fF— |- {-1--f- -
2500 fof— - {-{--+- -
= 1
2000 SR =
=
10 1500 fF—-1-1--+- =
1000 fF—-1{-1--+- = "
= 10
500 pF— |- {-1-- - =
=
o -t -
s i i i i
0 1000 2000 3000 4000 20 40 6! 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=3 } [ ADC for FGT RDO=1,ARM=4,APV=3 |
3 = 4000
2 o 10
9 Q 3500
< <
10° 3000
2500 f=
1
2000
1500
1000
10"
500
0
i
0 1000 2000 3000 4000
raw ADC APV channel
ADC for FGT RDO=1,ARM=4,APV=4 } [ ADC for FGT RDO=1,ARM=4,APV=4 "}
5 - 4000 p— 10
[ & =
o 4} e -
9 Q 3500 =
To < =
3000 f=—----1-------- =
=
2500 fm— v e e e eeen - 1
=
2000 fm— - - e { e n e -
=
10 1500 = s s s g e -
=
1000 f=—----1-------- = 10t
=
)| = .
=
" 0 f—e e -
| | = . . i . . i i . i i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel



run_13087064 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Tue Mar 27 19:38:11 2012

[ADC MPV for RDO=1ARM=4,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=1 }

MPV (ADC-ped)

-
1500 [
1000 [+

500 |+

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=2__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13087064 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
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run_13087064 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
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run_13087064 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Tue Mar 27 19:38:46 2012
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run_13087064 FGT_ ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13087064 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Tue Mar 27 19:38:46 2012
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run_13087064 FGT_ ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13087064 FGT_MPV_1,Timebin=2,Disc=5,asmb=5AB
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run_13087064 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
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run_13087064 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC
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run_13087064 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13087064 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Tue Mar 27 19:38:48 2012
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run_13087064 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Tue Mar 27 19:36:59 2012
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run_13087064 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
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